VII.

1. 47)

(Actuarial Assumptions)

A) (Demographic Assumptions):

(entry age) = a ( a )

(normal retirement age; NRA) =

(normal pension age; NPA) =r ( )
(model member ship):

(Stationary) (Active members) (Retired

members) ( )

(G la I

(unit time period) 1 )

47)
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(Economic Assumptions):
't =0

(salary growth rate) = f( ,

)i

- (promotional salary scale) = ss(x),a< x < r-1

( a . ss(a)
- (salary inflation rate) = is, (1+s) = €,

- = &

|
(0]

(Valuation interest rate) = iv, (1+iv,) =

Is

ss(a-1) = 1)
>0

>0

iv)> -1
)
(Life Annuity)
(Benefit Formula)
= (Annual Pension) = AP = h(
X
(€) t
(discrete time approach) );
(D) :

(continuous-time approach)

r-1
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(E)

(F) 48)

(G)
2. (Recursion formulae)
8§73 (recursive
equation) ( a=0-B)
éx+1(u ) = (Ix/|x+1) X eu X ( éx(u ) = l) = Nx+1 / Dx+1
48) t a PA (t, a)
PVFB(t, a) AP(t, a) = hx (r-a)x sox € 'x & “¥x

ss(r- 1)/ ss(a),
PVFB(t, a) = PA(t, @)X r-a 8"’
PA(t, a)x €° "% I/lx &)
hx (r-a)x sox € 'x e® ° % *| /% x 5,©)
( °ly = ss(y-1Dx Iy, a< y<r)
= hx (r-a)x sox € ' (q%5" "’

©)

r-a| da
(survival function) ly
(commutation table)

(r-a)

(salary-survival function) °ly

sox € 'x ss(y) ss(a) , y, Sox €'
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[ee]

(& = > € x (k) =N/ D)

=0

- (n-1

n-1 | aul(u) = (|x+n/|x+1) X e ) x aun(u) = (Ix/|x+1) X eu X n a((u)

n-1 .
( &x"' = 20 €% x (Ikw/lk) = (Nx - Nysn) / D
J:

[ee]

" | éX(u) = z e’c‘j X (IX+j/IX) = éx(u) - éx:n(u) = (Ix+n/|x)x eEu "x éx+n(u)
i=n
= Nuon / Dx )
gxm*‘l(u) = (Ix+n/|x+n+1) X eu X (gx:n(u) + l)

n-_1 .
éx:n(u ) / nEx(u) = 20 eu (- X (Ix+j/|x+n) )
J:

~—~
ur
X
5
1

§73

PVB(t, x) = PVB(t, x; P) + PVB(t, x; F)

X (t, x)
(t, x) (past service)
, PVB(t, x; P), (t, x)
(future service)

, PVB(t, x; F)

§71 , X
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=a, atl, .., r-1

PVB(t, X)

Actuarial Present Value(APV) of future benefits for a member

aged x, existing at time t, computed at time t
= hx (r-a)x sox € "% | &)

= hx_(x-a)x_sox & %% ., | ¢!

T (2 PVB(t, x; P); APV of Past service benefits)

+ hx (I’-X)X SoX eﬁ,(lﬂ:xlx o | éxiil

T (2 PVB(t, x; F); APV of Future service benefits)

,  PVB(t, x), PVB(t, x; P), PVB(t, x; F)

PVB(t, x; P) = PVB(t, x) x f—z
PVB(t, x; F) = PVB(t, x) x :_g
;. , PVB (pro rata fraction)
3.
( ; NC, AL)
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(EAM) :

(PUM)

§ 87

(EAM)
EAM ‘
(. )
? -
¢ ? ( , )
, (standard contribution formula)
(constant %)
(assumed
entry age; €) e (notional
member)
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C )

(ie r-e
(projected final salary)
e
e+l r-1
AL(0) ( PSL)
49) EAM r-e
AL (0) ( ) PSL
(stable pace of funding)
(EA NC) (EAAL)
( 0
(e) (A2) (@)
(.e=29)
49) e ( )PSL = 0.
e “( PSL > O
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( 1
t a (salary
function value) Sf(t, a) ,
Stt,a) =s x €' =5(t, x)= S(t) & S(0,a =S(0, x) = s
( (E) :
t S() )
~ S(t+1) = € x S(t) S(0) = s 50
AAP(t,a)
"*AP(,a) =h x (r-a) x & ¥ x S(t)
AP, X) = h x (r-a) x &€ x S@t) = "H x FPS(t, x),
X =a, atl, ..., r-1

M = hx (r-a), "PS(t, x) = & “*) x S(t) 5.

( 2
(t, a) r
50) 1 (first- order recursive growth equation)
(time-indexed
function) (dynamic
growth model) .
51) EAM (iii) (ie. r-a, years
of the total (past & future) pensionable service)
EAH , PSS, ) (t, X)
(praected final saary) . 871 ©
PSt, x)* = & Y x
St) (e r-1 ) r-1
1 PSt, x) = **PS(t, x)* x €& .
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(t, a) **PVB(t, a)
"*PVB(t, a) = “"AP(t, @) X 28"’
, PVB(t, x) = "*AP({t, X) x &°’, x =a, a+l, .., r-1

( 7.1) "*PVB(t, x) §72
PVB(t, x)
( 3
(t, a) (ie. r-a)
(t, a)

"*PVFS(t, a)
r- 1
""PVFS(t, @) = S(t) x 2 €& *"x &®“x I/l

S(t) X Hura® P

, PPVFS(t, x) = S(t) x &:° "), x =a, atl, .., r-1

( 4 - ()
“*PVFS(t, a) “*PVB(t, a) (
“*PVFS(t, a) “*PVB(t, a) )

"APVB(t, a) /| **PVFS(t, @) = *Hx € "% [.a8° 7 &ar-a® P,

independent of time t

r-a) S(t)
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(level fraction of current salary)
["PVB(t, x) / *"PVFS(t, x)] = “*H x &

/ é)(:l’»)((6 >G

1, x = a, atl, .., r-1.
( 95 -
t "ANC(t, a)
EANC(, a) = [*PVB(t, a) / “*PVFS(t, a)]x S(t)

“PVB(t, a) / [""PVFS(t, ayS(t)]

"*PVB(t, @) /| &aur-® "’

) X [r»x\éx(6 )

- (7.2)

- "*PVFNC(t, a) = **PVB(t, a) ( F*PVFNC(t, a) = “*NC(t, a)

X Bara® ")
[F*PVB(t, @) / &ar-a® " ] “*PVB(t, a)
(ie r-a) (uniformly
spreading-out over term r-a). , (t, a) (r-a)
"ANC(t, a)
(discount function value) e © P’ (t, a)
(ie. "'NC(t, @) X &ar-a" ")) r
(t, @) PVB(t, a)
8§ 6.7. . “ "
(t, &) ( @t a
"AAL(t,a) =0 ).
( 72 (ie.
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NC(, a) < NC(t, at+l) < .. <

a+l r-1 )
NC(t, r-1) : EAM (iii) &
(iv) "*NC(t, a) = “*NC(t, a+1) = .. = "*NC(t, r-1)

(Individual Entry Age

method(IEAM) EAM
*ANC(t, a) .,
TANC(t, x) = [**PVB(t, x) / ""*PVFS(t, x)]x S(t)
= "'PVB(t, x) /  &4.x°P’ | x = a a+l ., r-1

= ""PVENC(t, x) = "*PVB(t, x)
( ""*PVFNC(t, x) = ""NC(t, X) X &ara" )

(., )

(Initial Funding Method;

( 73) §61.
"NC(t, a) = "PVB(t, a)

IFM)

= "*PVB(t, a). (ie r-a)

Once-for-all payment

EAM
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( 6)- (ii)
t ANC(t)
*ANC(t)

- 21 IX] x *NC(t, a)

[*PVB(t, ay ™ PVFS(, a)] x 3 [hx S

1
( t ; W(t))
= c% x W(t) ---(7.2)
CNCEH) (0t ) x
t ) EAM
, ANC(t, a) = "“NC(t,
a+tl) = ... =" NC(, r-1) ,
:NC(t) =c% x W(t), ¢ = (independent

of both time t & actual age x but dependent only on the assumed

entry age a).
«C 7 -
(Projected Actuarial Liability)

(t, x)
"*PVFNC(t, x) AAL(L, x), a< x< r-1,

52)

- 179 -



PVENC(t, x) = “"NC(t, x) + “"NC(t+1, x+1)x e’ x L+Ul +
NC(t+2, x+2x €® x Ll  + . . . +
ENC(t+H-x-1, r-1)x €° x |4/ Ix
= FANC(E, X) X &) (= FANCE, @) X &ax® )
ANC(tH, x4) = **NC(, x)x €', I<j<r-x-1 & ®*NC(t, a)

~—

= EANC(t, X) )

PAL (L, X)

"*PVB(t, x) - "*PVFNC(t, x)

[EAAP(t, X) X r-x ‘éx(6 )] - EANC(t, a) X éx:r»x(6 h)

Hx FS(t, X)X o &%) - HX SU)X &€ V% [a&C) ) & "

se 5 -
X ax:r»x( )

{EAHX S(t)x eB (r»x)x r-x | éx(6 )/ éa:r»a(6 P )} X
{éa:r»a(6 R eB - X [r»a\éa(6 )/r»x | éx(6 )] X éx:r»x(6 P )}

= {EAHX S(t)x eﬁ (rEX)x r-x ‘a)((6 )/ éa:r»a(é P )}x {éa:r»a(é ) = e>(6 P )(X’a)x

52) IV AL, X)

'NC(t, x) : , AL, X)

INC(t, x)

(continuous-time approach)
( 0 )
notation
notation ot

(ie t-1 ) & tH0 (e 8§ 7.1
(D) t

). EAL(, X) , *NC(t+0, x) : notation
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(Il 12)X &crr® P}
( r»a\éa(6 )/r»x\éx(é) = e>6(x>a) x Ix/ la )
- {EAHX S(t)x eﬂ (r-x) g x| éx(é )} x {&:X>a(6 -B )/ éa:r»a(é -B )}

( {éa:r»a(é >G ) = e>(6 >G )(X>a) X (IX/Ia) X é)(:l’»)((6 >G )} = éa:)(»a(6 >G ) )

= "'PVB(t, X) X [&ux-a® ")/ &ara® P ---(7.3)
; §7.1
(t, a) "*AL(t, a) =0
(t+r-a, 1)

ie. “AL(t+-a, r) =
PVB(t+r-a, r)).

, (7.3) SAAL(t, a)  "NC(t, a)

PAL (L, X)

EANC(t, a) X e>[3 - X r-x | éx(6 )/ r»a\éa(6 ) X éa:x»a(6 B

EANC(L, @) X Hax-a® P x @ @ PN w1 ],)

= "'NC(t, a) X Sax-a" "’ ( 8§72 ) ---(74)

; §71 :
(t-x+a, a) (t, x)

(x-a) {**NC(t-x+a, a)

 EANC(t-x+a+l, @) , .. , *NC(t-2, a) , **NC(t-1, a)} = {"NC(t, a) x
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efP L, FANC(t, a) x e |, **NC(t, a) x e’ },

(actuarial
accumulated value of the normal costs)
( 74)
(7.3) (Prospective Method) (7.4)
(Retrospective M ethod)
- (t, x) , FPAL(, X), r€ X< w,
(t, x)
(A2) (t+r-x, 1)
X =, o+l r+2, . ,
PAL(t, X)
= *PVB(t, x)
= FAP(+r-x, 1) x &°’
T ( t X r (t+-x) )
="H x S(t+-x) x &’
T t X r (t+-x) )
=" H x 9% g(t) x &)’ ---(75)
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, 871 () (t, x)

EB(t, x)
PEB(t, x) = P*AP(t+-x, ) ---(76)
., (73) & (75) t SAAL (L)

SAAL (L)

= Xﬁa[lxx AL (, X)]

-1
= { z [I)(>< EAH>< eﬁ (rEX)x S(t)x r-x ‘ a)((6 )x éa:x»a(é >B )/ éa:r»a(é >B )]
X= a

+
Me

[ex "*Hx & “x S(t)x &° ] }

X r

1
WY)

r-1
x { 20 [hx FPHX € % S)X x| &C X Bax-a® P Bara® P]
X=a

+ 3 [ PHx @ OO SEOx &0 ) x W)

-1
{ z [Ixx EAH>< eB (r»x)x r-x | éx(6 )X éa:x»a(6 P )/ éa:r»a(6 P )]
X=a

-1
£ hx PHx @ XA S x W)

hade x W (t) ---(7.7)
(%)

75) 7.2) EAM
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(ie t=0) x ANC(0, x)

(x-a) “*AL(0, x),
X =a+l, a+2, .., r-1( F*AL(0, a) = 0)

(7.2) ,
"NC(0, x) = **NC(0, @) = “"Hx S(O)x & “"x [a&"’ | &ur-a® ]
(7.2) 0
“*NC(0)

- 21 L] x EANC(0, a)

= ["PVB(t, a) /| "PVFS(t, a)] x ;Zla [tx S(O)]

="c% x W(0)

---(7.8)
(712
, (7.7) t=0 “AAL(0)
« ) §7.1 (A1)
EAM
(ie. x-a) EAM
X
PSL (x) , a O+a- x
0 X
(7.3) (ie. t=0) S(0)
, S(0) = x &
PSL (0, x)

= {EAHX S(O)x eB X r-x \éx(6 )} X [éa:x»a(6 h) / éa:r»a(6 * )]



= {EAHX SoX eB (r»a)x r-x | iix(6 )} X [éa:x»a(6 h) / éa:r»a(6 P )]

PSL (0) = 21 l x PSL(0, x)]

(7.7)
t=0
EAM
( (iv)
F(0)
(initial unfunded liability), UL(0) = PSL - F(0),
( )
( 8) - °NC (recursive growth equation)
(72) & (76)
W(t) = 21 hx SO, t =0, 1,2 ...
t, t+1 ANC(t) FNC(t+1)

W(t) W(t+l)

W(t+1) = 21 [kx S(t+1)]

- ¢ x 21 [hx S()]
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=¢ x W(t), W (0)

ANC(t+1) = "c% x W (t+1)
="c% x € x W(t)
¢ x EANC(), EANC(0) ---(79)

, FANC(0) (7.7) ANC(t)

( 9 - "*AL (recursive equation)
- FAAL()  FAAL(t+D)
(projection) ( , PSL
(7.7)
(7.12) PSL EAM

EAM « . )

. §71 (F)
X =a atl, ., r-1, (7.1) & (74)

& x [Lx AL, X) + hx SNC(t, X)]

€ x {[lx " NC(t, X) X ax-a® *'] + [lkx **NC(t, x)]}

=& x Lx ®ENC(t, X)X [$ax-" ") + 1]

= Ixx (Ix+]/|x)x EANC(t, X)x eG X [ga:x»a(6 b )X (Ix/|x+1)x e(6 8 + (Ix/|x+1)x e(6 b )]
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= |x+1x EANC(t"'l, X+1)x [ga:><+1»a(6 i )] ( § 72 )
= lax FPAL(t+1, x+1) ---(7.10)

= px AL x+1) =€ x [FPAL(t, x) + T'NC(t, X)], px = e/ Ik

X =, r+l, r+2, ..., (75) & (76)

e x [lx PAL(t, X) - Lx ®EB(t, x)]

€ x Lx [ *AP({t+-x, 1) x &°’ - "*AP(t+-X, )]

Lex (/L)X SPAP@EH-X, 1)x [&C % (Wdla)x € - (I 2)x €]
=L X PAP(H-X, 1) X &a©) ( 8§72 )
= I x FPAL(E+L, x+1) ---(7.12)
= px AL+, x+1) =€ x [FPAL(t, x) - T'EB(t, x)], P = et/ I

, ( , ) , X =a,atl, ., r, r+l .., (7.0
& (7.11) (7.12)

&€x | Xﬁa[lxx AL, x)] + ;Z:[lxx EANC(t, X)] - Xﬁr[lxx
"“EB(t, x)] } (=€ x {FPAL() + *NC(t) - ""EB(t) } )
= i o x AL @+, x+1)]

= "AAL(t+1)
= FAAL(@+1) = € x {FPAL() + 'NC(t) - "'B(t)}, AL (0)
---(7.12)
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TAL(0) PSL
EAM (. (710 )
EAM (7.12)
{**AL(t): t=0, 1, 2, ..}

(7.10) : ., (7.10)
AAL (L) = Fha% x W(t)
AL (t+1) = Fra% x W (t+1)

-1
= a0 x X [lx S(t+1)]

S0 x & x zl [x S@)]

=& x "AAL(), AL (0) ---(7.13)

(PUM)

§7.1 (A) (G)
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PUM ‘

(.
) 7
- ¢ ? ( , )
871 1)
(single premium basis)
(accrued actuaria liability)
EAM PUM
(actual age)
EAM PUM ( )PSL
(AL(0) = 0);
(
: )
(actual service period) ( ,
100%

(Long-term funding requirement)

C'NC) ("AL)

- 189 -



EAM

( I
t a (salary
function value) Sf(t, a)

S(t,a) = x €' =S(t, x) = S()

( ©)
t S(.) )
= S(t+1) = € x S(t) S(0) = s

AAP(t,a)
AP, @) =h x (r-a) x &€ "% x S(t) (= ""AP(t, a))

UAP(t, X) = h x (r-x) x & x S@t) = ""H(x) x "YPS((t), x)
(#z FMAP(t, X), x = a+l, a+2, .., r-1).
Y"H(X) = h x (r-x) (& ©*H, "H(@) = "*H), ""PS(t,
x) =€ " x S(t) (= *"PS(t, x)) 53).

53) *H ""H(X) EAM PUM

, (i.e. r-a
EAM **H ,
(ie xa t 100% (
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2) - (i)
"UAP(t, Xx) (ie. r-x)
(e 1)
PU(t, x)
PUAP(t, x) / (r-x)
=h x °YPS(t, x)

PU(t, x)
; (L, x) (t, x) (t+1, x+1)

(projected unit benefit)

( 3 -
§72 , (t, x) (t, x)
(t, x)
YPVB(t, x; F)
YPVB(t, x; F)
= "YAP(t, X) x &%, x =a, at+l, .., r-1
(= PVB(t, x; F), 8§72 )
(ie r-x) r-x (t,
X) (t+1, x+1)
(iii) )
(ie. r-x) PUM PUH(X)
, PS(t, x)= "UPS(t, X))
EAM  PUM (prgected final saary)
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(t, x) UPVB(t, x; F)Y (r-x)
(t, x) (t+1, x+1)

PUNC(t, x)
="YPVB(t, x; F) / (r-x)
= "PVB(t, x) / (r-a)
t (= **PVB(t, x) = PVB(t, x), § 7.2 )

=PU(t, X) X r»x‘éx(é)

=hx "2 x ., 4% x S(t), x =a a+l, .,r-1. ---(7.14)
1 (EAM
» S(t), %)
, (t, x) r

(ie. ""AP(t+-x, r)x &°) (t, x)
(t+1, x+1)
( 76) (accrued actuarial liability)
EAM "*PVFS(t, a)
«( 4 - (iii)

t ANC(t)

PUNC(t) = 21 I x PUNC(, X)]
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_ 1
W(t)

x W(t)

x | ;Zla hx & "% r-x| &®’x Lx S(t)] }

= g Zi mxé“*&r%‘a“&|4}/'{§ilg x W)

= "Pc% x W(t) ---(7.15)
. EAM ANC(t) t
(total pensionable payroll; W (t)) (%)
(72) c
1 PUC
( 9 -
PUM
(Accrued Actuarial Liability) - 8
7.1 )
, (t+x-a, X) PUAL (t+x-a, X), X = a,
a+l, at+2, .., r-1, 8§71 (Al (t, @) la
(t+x-a, x) Ix
(accumulated value of the normal costs)
[« x AL(t+x-a, x)
x-_a- 1

= ZO lask X NC(t4, at) x ¢ * =V

] =
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x-_a- 1 . .
ZO |a+j>< hx eﬁ (r»a»j)x r-a-j | iia+j(6 )X §ﬂﬂ)x e6 be-al)

]=

(= St)x €)

h SEX {30 lax € CIx @0 CFx (flug)x AC x € ¢}
j=0
€ 72 )

x-a: 1
= hx S(t)x eﬁ (r-a)y { io eﬂ (r-a)y e»zs (r-x)y (Ix/lx)x I é;(é) }
J:

= hx S(t+x-a)x & “!x Lx (X-a)X rx | ax"’ ---(7.16)
f ( )
1 ((t+x-a, x) , S(t+x-a), r
)
; (t, a) 0
0
(t+r-a, r) (ie hx St+-a)x Ix (r-a)
x &°)  100% PUM
, (7.16) t, x)

PUAL(L, X), x = a, at+l, a+2, .., r-1,

PUAL(L, )
hX S(t)x eﬂ (r»x)x (X'a)x r-x | iix(6 )

"PVB(t, x; P)

hx S(t)x € "x (r-a)x x| &"® 'x [(x-a)/ (r-a)] ---(7.17)
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= ""PVB(t, x) x [(x-a) (r-a)]

T ( (r-a)
(x-a))
, PVB (ie (x-a)(r-a)) )
EAM (7.3) PVB (i.e.

o 5 - . 5 -
aa:x»a( f )/ aa:r»a( f ))

( 770 (72 EAM
. PUM (7.16)
. (7.16)

- (t, x) , PUAL(t, X), r< x

<w, EAM Lo, X =0, r+l, r+2, .. ,

PUAL(t, x)
= ""PVB(t, x)
=hx (r-a) x S(t+-x) x &°’ (= AL, x))
T ( t X r

(t+r-x) )
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=hx (r-a) x €% x S{t) x &’ ---(7.18)

, 871 (F) (t, x)
EB(t, x)
UEB(t, x) = "YAP(t+-x, r) (= "'EB(t, x)) ---(7.19)
(7.16) & (7.17) t SAAL(L)
PUAL(L)

= ;a[lxx PUAL (t, x)]

y ;Zla[lxx hx S)x & % (x-a)% rx | & ]
+ g}r[lxx hx (r-a)x & “x St)x &% ] }

= ;Zla[lxx hx € ©9x (x-a)X rx | ax® ]

+ 3 oxchx (rax @ Ux AT T x W)

= PYgy x W (t) ---(7.20)
(%)

738) EAM PUM
( )PSL
, PUM EAM
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100% '
EAM
( Initial Funding Method )

Mcleish & Steward(1987)
(Defined Accrued Benefit Method); Marshall

& Reeve(1993)

, (long-term)
(short-term)
(  6)-"'NC (recursive growth equation)
EAM PUM
(7.15)
UNC(t) = ""c% x W(t) &
-1
W(t) = 2 [kxSt)], t=012 ...
UNC(t+1) = ""c% x W (t+1)
="c% x & x Wi(t)
=& x PUNC(t), "YNC(0) ---(7.21)
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(720
{""NC@):t =0, 1, 2, ..}

( 7)) - "AL (recursive equation)
- EAM PUAL(t)  "YAL(t+1)
(projection) -

C )

X =a, atl, .., r-1, (7.14) & (7.17)

& x [lx AL(L, X) + Lx "UNC(, X)]
=& x Lx hx S(t)x € “x (x+1-a)x rx &’
( (7.11) & (7.14) )
= e hx S(t)x € % (x+1-a)x [ x (/b )X rxax™]

T (= e 41,872 )
= lLeax YAL (t+1, x+1) ---(7.22)

= px PALGMHL x+1) =€ x [YAL(t, x) + "'NC({t, X)], px = e/ Ik

CX = r, r+l r+2, ., (7.17) & (7.19)

e x [lx "PAL(t, x) - Lx "YEB(t, x)]

=& x Lx ["AP{t+-x,r) x &’ - "'AP(t+r-x, )]
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= Lx (/)% PPAP(EH-X, 1)x [&° % (W ha)x € - (I la)x €]
=L x YAP(tH-x, 1) x &) ( §72 )

= Lo x PUAL(t+1, x+1) ---(7.23)

= px UAL@+L x+1) =€ x [YAL(t, x) - "UEB(t, X)], px = ke Ik

, EAM ( , ) , X = a atl, . r,

r+1, .., (7.22) & (7.23) (7.24)

-1 @

€ x | :Za“xx CALE, X))+ X [ UNC(E, )] - 2 [

YEB(t, X)] } (= € x { PAL(t) + "*NC(t) - **EB(t) })

3 b x PUAL (t+1, x+1)
a

X=

= "YAL(t+1)
= PUAL(t+1) = € x {"YAL(t) + " NC(t) - "YEB(t)}, AL (0)
- - - (7.24)
EAM
(7.23) L, (T22)

PUAL(t) = "Ya% x W (t)
PUAL(t+1) = "Ya% x W (t+1)
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-1
PPa% x 2 [lxx S(t+1)]

Vath x & x T [Lx S()]

=& x "YAL(t), AL (0) ---(7.25)
EAM PUM
EAM PUM
(ie.e=a) (ie e=x)
r-a r-X
NC r-a (i.e. ) 1 (e (x+1) - x)
NC PVB(t, a)y PVFS(t, a) AP(t, x) I (r-x)
PVB AL iia:x»a(éwz) / iia:r»a(éwz) (X'a)/ (I’-a)
PVB(t, r) = AL(, r) ifPVB(t, r) = AL(, r) if
100% X=r, iia:x»a(é P )/ iia:r»a(é -’ )=1 X=r, (X-a)/(r-a) =1
( ) PSL PSL(@, x) = 0 ( PSL(, x) =0
( 7.9 : (EAM) (PUM)

- 200 -




	VII. 주적립방식의 수리적 모형화
	1. 모형화 가정
	2. 주요 연금관련 주요 재귀공식(Recursion formulae) 과 기호
	3. 주적리방식 수리적 모형
	가. 가입연령방식(EAM)
	나. 미래예상단위방식(PUM) 
	다. 요약



